®
J-HAUL ( 36268 DODGE INTREPID )
www.uhaul-com

( GROSS LOAD CAPACITY WHEN USED ASA WEIGHT CARRYING HITCH: 3500 LBS TRAILER WEIGHT & 350 LBS TONGUE WEIGHT.
L ***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY . .***
Parts List
ITEM QTY PART NUMBER DESCRIPTION -SPOT WELDS

1 1 |CM-12006-BK HITCHBOLT KIT

1.1 2 [12-13x1 14 CARRIAGE BOLT |_~sPOT WELDS

1.2 2 |12-13 HEX FLANGE NUT .

1.3 1 |2t FISHWIRE TOOL

1.4 4 |5/16-18 HEX FLANGE NUT

15 4 |5/16-18 x11/2 HEX BOLT

1.6 4 |5/16" WASHER

DRILL HOLE HERE
1.7 2 |CM-SP1 1.50 x 2.00x .25 INSTALLATION SPACER
DRILL HOLE HERE
PASSENGER SIDE TRUNK PAN DRIVERS SIDE TRUNK PAN
Side plate
FRAME RAIL

DRILLED HOLE
IN TRUNK PAN

/I—HTCH WEIGHT: 28 LBS.

INSTALL TIME: 45 MINUTES

DE SIGNED FOR USE WITH
BALL MOUNT # 36063
INSTALL NOTES:

Drilling required, fishwiring hardware

INSTALLATION STEPS \

1) Lift trunk lid and roll back carpeting to reveal trunk pan. Using a 1 1/2" hole saw, cut a hole in the location
shown in the trunk pan figures above. Make sure hole is centered between the spot welds as shown.

2) After cutting one hole per side, fishwire a carriage bolt and block thru the drilled holes and down thru
existing slots in the frame rails as shown above.

3) Lower exhaust to allow room for securing fasteners to carriage bolts.
4) Remove the bottom bolt from the bumper bracket and return to vehicle owner. One each side of vehicle.
5) Raise hitch into position, being careful not to push carriage bolts back into frame.

6) Insert the 5/16-18 screws into the holes in the bumper brackets and thru hitch side plates as shown.
Position the hitch arms onto the carriage bolts and secure with fasteners as shown.

7) Torque all 1/2-13 hardware to 75 Ib.-ft., Torque 5/16-18 hardware to 18 Ib.-ft. Secure exhaust into position.

PERIODICALLY CHECK THIS RECEIVER HITCH TO INSURE THAT ALL FASTNERS
\ ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND. /

Curt Manufacturing Inc., warrants this product to be free of defects in material and/or workmanship at the time of retail purchase by the original purchaser. If the product is found to be defective,
Curt Manufacturing Inc., may repair or replace the product, at their option, when the product is retumed, prepaid, with proof of purchase. Alteration to, misuse of, or improper instalation of

this product voids the warranty. Curt Manufacturing Inc.'s liability is limited to re pair or replacement of prod ucts found to be defective, and specifically excludes liability for incidental or
consequential loss or damage.




